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Pre-Calc 12 Trigonometric Identities Practice Test Name:
/30
1. Write each expression in terms of a single trigonometric function. [3]
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2. State the non-permissible values of 6 in each expression above. Answers should be in general form. [4] ?.uz #4
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4. Givensinff = — 2 and cos a =§, where angle S is in standard position with its terminal arm in Q3 and

angle « 1s in standard position with its terminal arm in Q4, determine the exact value of cos(a + f8). [4]
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Prove each identity. [15]

a)
LS

=

©)
RS

tan @ csc? 6

= cot@

secZ 6

- necsc’o

seco
sine _|
cosO 'Sin%o
[}
Cos?*®
[ PR
cos©sSIN® ° (CosO
{ x coste
CcosOSINe 1
Ccos®
sind
cot ©
RS

cotf =

sin26
1-cos 26

_ 251BCosO
I-(1-2¢8in*©) 1-1 +28in*®
Zsinbeoso  1-1(1-2sin6)
RATL A= =1 +25in*©
Cos©
sd
cote
LS

e) csc?xsec?x = csc?x +sec?x

RS =

CSC?*X + sec?*Xx
= ] + |
SIN*X cos?X
CoS3X + SInt X
SIN2XC0s* X
|
SIN®XCOStX
cscixsec?X

LS

sin? x

b) =1-—cosx
1+cosx

_Sin*x  l-cosx
LS = I+COSX  I-cosx
_ sin*x (1-cosx)

i | =cos*x
_ sin¥X(1-cosx)
T osin®X

|=cosx

RS

d) sin (§+ x) = cosx

LS = sin(3 *'X>

Sin?X
] +cosX

or LS=

" | +cosx
_ C14e83XX) ~cosx)
R

= |—cos¥
= RS

=ginfcosx + cos L sinx

1. cosx

Cos X
RS

+

O - sInX



